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1. Which of the following statements is/are correct?
1) QUAD isan informal group of India, the US, Japan and Australia.
2) Japanese PM Shinzo Abe mooted the idea of Quadrilateral Security Dialogue.

Select the correct answer using the code given below:
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

2. Which of the following statements is/are correct:
1) NDREF is the world's single largest force dedicated to disaster response.
2) NDRF is functioning under the Ministry of Home Affairs.

Select the correct answer using the code given below:
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

3. Consider the following statements:
1) India is the founder-member of the High Ambition Coalition (HAC) for Nature and People.

2) HAC membership is limited to Asian countries only.

3) The HAC aim is to prevent nuclear proliferation.

Which of the statements given above is/are correct?

a) 1and 2 only b) 3 only c)1l,2and3 d) None of the Above

4. Which of the following joint exercises is/are held between India-UK?
1) AJEYA WARRIOR
2) PASSEX
3) Konkan
4) Garuda Shakti

Select the correct answer using the code given below:
a) 1and 4 only b) 2 only c) 1,2 and 3 only d)1,2,3and 4

5. Consider the following statements with reference to Vaccum Bombs:

1) Ituses oxygen from the air for a large, high-temperature blast.
2) It causes significantly greater devastation than a conventional bomb of comparable size.

3) The use of these bombs is prohibited under the Hague Conventions of 1899 and 1907.

Which of the statements given above is/are correct?
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a)1and 2 only b) 1 and 3 only c) 1 only d)1,2and3

Consider the following statements with reference to Sagar Parikrama:

1) Itisa navigation journey to be conducted in all coastal states/Union Territories.
2) Itisa part of the Azadi Ka Amrit Mahotsava.

3) It will conduct interaction programmes with fishermen and fisher communities.
Which of the statements given above is/are correct?

a) lonly b) 1 and 2 only c) 2 and 3 only d)1,2and3

Consider the following statements
1) Assarting is a farming method that involves the cutting and burning of plants in a forest or
woodland to create a field
2) Slash-and-burn is a type of shifting cultivation in which farmers routinely move from one
cultivable area to another.
Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both1and 2 d) Neither 1 nor 2

Singareni is a village located in which of the following Indian state?

a) Telangana b) Karnataka ¢) Maharashtra d) Andhra Pradesh

Which of the following statements is/are not correct regarding Green tobacco sickness (GTS)?
1) GTSisatype of nicotine poisoning that occurs while handling tobacco plants.
2) Tobacco harvesters, whose clothing become saturated from tobacco wet with rain or morning
dew, are at high risk of developing GTS
Select the correct answer using the code given below:

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

The Konyaks are one of the major ethnic groups located in which of the following Indian state?
a) Odisha b) Nagaland c¢) Manipur d) Kerala
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